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PARTE I

1.1
SELECT DISTINCT IdT, Marca
FROM ( Modelos NATURAL INNER JOIN Téxis
NATURAL INNER JOIN Corridas
NATURAL INNER JOIN Motoristas )
INNER JOIN Locais ON (PartidaL = IdL)
WHERE NomeL = 'Marqués de Pombal' AND
DataHR >= TIMESTAMP '2008-10-20 00:00:00"' AND
DataHR < TIMESTAMP '2008-10-21 00:00:00'

SELECT IdT, AnoT, MarcaMd

FROM Modelos NATURAL INNER JOIN Taxis NATURAL INNER JOIN Proprietarios
GROUP BY IdT, AnoT, MarcaMd

HAVING COUNT(IdM) >= 2 AND MIN(DataP) = MAX(DataP)

ORDER BY AnoT DESC, MarcaMd ASC

Ou  SELECT t.IdT, t.AnoT, m.MarcaMd

FROM Modelos m INNER JOIN Téxis t ON (t.IdMd = m.l1dMd)
INNER JOIN Proprietarios p1 ON (p1.1dT = t.IdT)

WHERE pl.DataP = ALL (SELECT p2.DataP FROM Proprietarios p2

WHERE pl.1dT = p2.1dT)

GROUP BY t.IdT, t.AnoT, m.MarcaMd

HAVING COUNT(p1.1dM) >= 2

ORDER BY t.AnoT DESC, m.MarcaMd ASC

1.3
IdTgsum(PregoC)(CorridaSN(H|dT,|dM (corridas) —TIT 4 g\ (proprietérios)))

1.4
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PARTE Il
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